Operaciones con Nimeros Senarios (F)

21504
X 4bg

41024
X 336

14423;|3;

5352
X 114

3340504|505

Calcule cada respuesta.

235543433

2013043

12014
X 4g

43014
X 36

1154
X 32

23144444

1554416|556

1405504]23;

43454
X 22

3240004406

203324/52;

4341
X 20g

1035325|44

1102506|34

232350435
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Operaciones con Nimeros Senarios (F) Respuestas

21504
X 4bg

1505104

4102
X 33

2234104

14423;|3;
3325

5352
X 114

1033124

3340504|504
42014

Calcule cada respuesta.

23554333
4323,

2013043
40304

12014
X 4g
5204

43014
X 36
21303

1154
X 32

4204

23144444
3144

155441d556
20154

1405504234
4022

43454
X 22

144514,

3240004|40¢
5100¢

20332452
2214

4341
X 20g

1312205

1035325|44
1232

1102506|34
1533;

232350435
40104
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